Black Two Wheel Electric Scooter Includes FREE Carry case (340 GBP)

Location East of England, Bedfordshire
https://lwww.freeadsz.co.uk/x-161436-z

Black Two Wheel Electric Scooter Includes FREE Carry case, Black Self Balance Seghoard Only £340
including Free Carry Case PRODUCT INFO 1. Max Load: 100KG 2. Max speed: 10 Km/h 3. Max range:
15-20 Km 4. Battery: Lithium-ion Battery,36V,4.4AH 5. Motor Power: 350w x 2 (700w) 6. Charge time: 1.5
- 2 hours 7. Max climb angle: 10-15 ° 8. Product size: 58.4(L)*18.8(W)*18.6cm(H) 9. Tyre size: 17cm 10.
Platform height: 3cm 11. Net weight: 10.5kg 12. Gross weight: 12.5kg Segboards are a safe and
convenient mode of transport. These Segboards require only 1-2 hours charge time, which provides up to
15 Km worth of travel and can even reach speeds of 12 Km/h (Medium jogging pace). Weighing in at only
10kg, makes the Segboard very easy to carry when the board is not in use. Segboards use pressure
sensors beneath the rubber pads which allow the user to shift their weight in order to manoeuvre the
board. £340.00, Dunstable,.
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